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Worksheet (3) | The Primary Stage of Grades (4-5)

2023-2024
Name: ......» % ......................... Subject: Math
Date: Class: Grade 4 CP (All Sections)
Objectives:

* Calculate differences between near multiples of 1000.
e Find the total of more than three two- or three-digit numbers using a written method.
®  Add or subtract any pair of three- and/or four-digit numbers,

* Check with a different order when adding several numbers or by using the inverse when adding or
subtracting a pair of numbers.

e Find the total of numbers with four or more digits using a written method.
e Choose an appropriate strategy for a calculation and explain how they worked out the answer.
e Deduce new information from existing information to solve Problems.

Vocabulary: Add, subtract, sum, total, difference.

1) Fill in the missing numbers to make the following statements true. \"\'m)f ;
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2) Solve: ( you can use near multiple method or any method you prefer)
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4) Solve the following questions showing your work:
NS
a. Mr. Flood had pencils at the beginning of the school year. In term
one, @8 pencils were used)and in term two,\ 1,827 pencils were used,

How many pencils are left remaihing to use next year?
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b. Kieran need.s to run(22,500}meters. In the first ten minutes he runs 6 639
meters and in the second ten minutes he runs ’

further does he still need to run?
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C. Jane and Sara are trying to find out how many star jumps they can do in
two hours. In the first hour, Jane completed 1,545 star jumps ﬁ'gin the
second hour, she complete .m Sara completed 1,864 jumps
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between Jane and Sara? D‘“\ &’%_m\\gg 'vxk\_;,x:.\ \Vant3
CGuina

AT
¥ \jo‘\’\ gO“‘Cl 'Zl’%‘HC o
LSY s \, BEY - 156y
- ’:lO\S__ 4}‘ Jd b star
234 0O s bL““PS K
Star darme C\‘&&&\t N

San Com\'a\‘f)'Qex

Page 5 of 6


https://v3.camscanner.com/user/download

ogc
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Add and subtract numbers up to 4 digits.

Choose an appropriate strategy for a calculation and
explain how | worked out the answer.

Deduce new information from existing information
to solve Problems.
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